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import sys
sys.path.append("statlib™)
from xtest import paired_t_test

paired_t_test(x, y)
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import sys
sys.path.append("statlib")
from xtest import paired_t_test

paired_t_test(mx, my, ux2, uy2, r, n)
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import sys
sys.path.append("statlib")
from xtest import paired_t_test
= [-1.1, -1.1, -0.5, -3.3, 0.0, -1.1, 1.6, 1.6, -0.7]
= [-1.5, -0.7, -6.8, -2.7, 0.1, -0.4, 0.5, 0.2, -0.3]
a = paired_t_test(x, Vy)
Paired sample t-test (test for the difference between two means)
t = 0.44499, df =8, p value = 0.66812
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import numpy as np

from scipy.stats import pearsonr

np.var(x, ddof=1),
len(x))

np.mean(y),

y)[0],

paired_t_test(np.mean(x),
ddof=1), pearsonr(x,

a =
np.var(y,

Paired sample t-test (test for the difference between two means)
t = 0.44499, df =8, p value = 0.66812




